

Viswambhara Educational Society VAAGDEVI DEGREE & P.G. COLLEGE



(Approved by A.I.C.T.E., New Delhi, Affiliated to Kakatiya University & TSCHE)

Kishanpura, Hanumakonda, T.S. -506001

Library & Information Centre

Subscribed Journals List

Sub	scribed Journals for the Academic Year 2	023-2024
SI. NO.	Name of the Journal	Amount
1	Indian Journal of Computer Science	2,200.00
2	Resonance	2,000.00
3	Current Science	3,000.00
4	Indian Journal of Agricultural Sciences	1,000.00
5	Journal of the Indian Association for Angiosperm Taxonomy	5,000.00
6	Competition Success Review	1,500.00
7	General Knowledge Today	600.00
	Total	15,300.00



Dr A. Sheshachalam

PRINCIPAL

Principat

Vaagdevi Degree & P.G. Collegan

Kishanpura, Hanamkonda



GLOBE SUBSCRIPTION AGENCY

	3-4-870/1, Barkatpura Hyderabad-500 027 INDIA
Stamped RECEIPT No. 664	Date 19th March 2024
Received with thanks from	THE PPINCIPAL Vaagdev? Degree & PG College
	Vaagdev? Degree & PG College Lamnager, Hanumakanda Warangal, 506.001, Telangena n Thousand Three Hundred only—
By *Cheque/D.D./M.O./Cash	199 Harch 2024 In Full/Part
Payment of our INV./SP INV.N	o10/H/4
Rs. 15,300 -00 *Cheque subject to realisation	Globe Subscription Agency



Dr A. Sheshachalam

PRINCIPAL

Principal

Vaagdevi Degree & P.G. Colles, a

Kishanpura, Hanamkonda

9	GLOBE SUBSCRIPTION 3-4-870/1, BARKATPURA	GLOBE SUBSCRIPTION AGENCY 3-4-870/1, BARKATPURA	The Principal Vaagdevi Degree &	ipal Degree	8	Collge			Invoice No. 044 19th MARCH 2024	o. 044 CH 202	4:
ESTD 1981	HYDEKABAD - 500 027 TELANGANA, INDIA 040-27567629, 09959900290	00 027 DIA 09959900290	Ramnagar, Hanamkonda, Warangal-506 001 Telangana	r, Hana a	mkond	a, War	angal-50¢				
		GSTIN No: 36AGXPV7152P1Z2	Your	Ref: As	per yo	ur Tele	Your Ref: As per your Telephone conversation had on 22nd Feb 2024	nversatio	n had on	1 22nd	Feb 2024
S NO	ORDER NO	SUBSCRIPTION FOR NATIONAL / INTERNATIONAL JOURNALS / MAGAZINES FOR THE YEAR 2024	Publisher	Vol.No.	No.of Iss/ Y	CUR	RATE	POSTAGE	TOTAL	CONV	AMOUNT IN RS
1	1071-044-426	Indina Journal of Computer Science	MCI		9	Rs	2200.00		2200.00	1.00	2200.00
2	1072-044-427	Resonance	IAS		12	Rs	2000.00		2000.00	1.00	2000.00
3	1073-044-428	Current Science	IAS		24	Rs	3000.00		3000.00	1.00	3000.00
4	1074-044-429	Indian Journal of Agricultural Sciences	ICAR		12	Rs	1000.00		1000.00	1.00	1000.00
2	1075-044-430	Journal of the Indian Association for Angiosperm Taxonomy	Raheeda		4	Rs	5000.00		5000.00	1.00	5000.00
		MAGAZINES									
9	1076-044-SC	Competition Success Review	Stand		12	Rs	1500.00		1500.00	1.00	1500.00
7	1077-044-SC	General Knowledge Today	Stand		12	Rs	00.009		00.009	1.00	00.009
				ē					Total Amount	ount	15,300.00
		(Rupees Fifteen Thousand Three Hundred Only)									
	ž			•						,	
				- M	E GIVE H	ERE UN	WE GIVE HERE UNDER BANK DETAILS FOR RTGS/NEFT PAYMENT	DETAILS FO	OR RTGS/I	NEFT PA	YMENT
		A SCRIPTON	*	Benificiery Name	Name	GL	GLOBE SUBSCRIPTION AGENCY	RIPTION AG	ENCY		
		(CO) (Hyderabad)	⋖_	Account Number	umber	09	60470349071				
		STOCK OF THE PROPERTY OF THE P	<u> </u>	Account Type	/pe	3	CURRENT ACCOUNT	TNUC			
	8	GLOBE SUBSCRIPTION AGENCY	<u>α</u>	Bank Name	g)	BA	BANK OF MAHARASHTRA	RASHTRA			
	-		Ω	Branch Name	те	ns_	SULTAN BAZAR	~			
	ts.		<u> </u>	IFSC/RTGS Code	Code	Μ	MAHB0000019				=



Dr A. Sheshachalam

PRINCIPAL

Principal

Vaagdevi Degree & P.G. Collegy

Kishanpura, Hanamkonda

With Date & Time of Request Customer Acknowledgement ad (Joint Applicant) We acknowledge receipt of NEFT / RTGS instruction(s). Reference no...

Logint Applicant 2)

Dr A. Sheshachalam PRINCIPAL Principat Vaagdevi Degree & P.G. Collega Kishanpura, Hanamkonda